Woodman’s Parts Plus

www.woodmanspartsplus.com

Radiance UVS27 Hearthmount Vent Free Stove Part List

UVS27 Vent Free Gas Heater - Hearthmount Shell
Models 2795, 2796, 2797, 2798

Ref. Description uvs2z
1. UVS27R Firebox Assembly / NG 0002797
UVS27R Firebox Assembly / LP 002798
UVS27M Firebox Assembly / NG 0002795
UVS27M Firebox Assembly / LP 0002796
Rear Shroud Assembly, UVS27 20000894

End I, Left - HM/PDV

Refer to Enamel Parts Chart Page 51

End lIl. Right - HM/PDV

Refer to Enamel Parts Chart Page 51

Refer to Enamel Parts Chart Page 51

WF Front, HM

Refer to Enamel Parts Chart Page 51

2
3
4.
5. _Top, UV30
6
7
8

Hinge. Control Door - FS/HM i AN 1601670
___ 8. Doer, Control - FS/HM Refer to Enamel Parts Chart Page 51
9. Heatshield, Side - DH25 . S 1403065
10.___Tab, Damper - ENC/INT || s 1601488
11. PanHdPH 1/4-20x3/8"-8k B 1200993
__12._ Washer, FL 1/4 - Pin 7/8 o.d. <0 1202470
13, Washer, FL 1/4-Z. 313i x .7420 .06+ - LA 1202474
16. _ Winascrew, 1/4-20 x 1/2 - Pin SV 1201621
17._Ring, Snap P Ll 1201987
18. _Leveling Bolt, Hex Hd 1/4-20 x 1-Z A (\OY 1201745
19. Screen. UVS27 Q0% 20005009
20. _Grille, UV30 L 30000393
21. Mesh, Grille- Uv30 NV 30000508
22. Wiring/Thermostat Assembly - RVF 1601913
23.__ Switch, ONJOFF - RAWDV 1601597
"Shell Enamel Parts Ghart
___Cglor__ Top Left End Right End Front Centrol Door
Classic N/A N/A N/A 1301129 1301087
Sand N/A N/A N/A 1321129 1321087
Midnight N/A N/A N/A 1341129 1341087



https://www.woodmanspartsplus.com/

